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SECTION-A
Child Development and Pedagogy (Bilingual Section, Question No. 1 to 30)
7 feaw 3 fifunr A= (E9riom)-yes 8 1-30

1. “A very pleasant student who seems to work hard and creates little problem may be given the
benefit of doubt (higher grade than deserved), whereas a very troubling student who creates
trouble in class may be given a lower grade.”This is an example of -

(A) expectancy theory : (B) mnemonic

(C) teacher’s conditiom'ng (D) halo effect -

fea yrfimm fefomradt # warer 3 fx fiosdt 3 89 A3 RS we wdndt e a9 D
far e QA § g Jor I 7 3 8 o 95 B8R T Ao yus R Tw) we fx ffa =g
rargst fefonradt 7 mrg R w3Et Der srger 3 GRY At I3 e Mg Sorgge 3
(A) Yf3orgr fauts (expectancy theory)

(B) &g Hadt (mnemonic)

(C) nirftpomu & At 3 (teacher’s conditioning)

(D) GO € YB'T (halo effect) :

2. According to Kohlberg’s theory of moral reasoning, which of the following is correctly
matched? ' :
(A) Pre-conventional moral reasoning ~ good boy-nice girl orientation
(B) Conventional moral reasoning — law and order orientation
(C) Pre-conventional moral reasoning — social contract orientation
(D) Post-conventional morat reasoning — punishment —obedience orientation

Irsadam St Afsa et & fewrgarar 2 nigArs, feost RAT fixasT A8 3 At it )
(A) Yo Frfedt 3fsx 397 - dar s Sat 3=t Bt msardt

B) Fofest fsa 390 - s § s et mreat

(C) YI= Fefesht 33 397 - AN Wraarat '

(D) URe Ffet 3fsx 39 - afoer bsx 3 e 990 wreart

3. Which of the follow the following strategies you would associate with. culturally relevant
teaching? ’ -
(A) Do not use activities and projects
(B) Keep standardized criterion for students behavior during discussion/assessment/
interactions '
(C) Experiment with different grouping arrangements to encourage social harmony and cooperation
(D) Community participation should be avoided

mwwmmaﬁw%@ﬁaﬁmmﬁam@#
(A) Natfedt 3 ae o s o o

(B) SIRATe/HUSE © das dfont ¥ wagre & mdt I 3 S

(C) mﬁamﬁnﬁﬁm@zsﬁe&%n&mw@e@%qﬁmaﬁ
(@) Avfra RfgsTfasT 3 awg e &9

4. According to Renzulli and Reis, following set of characteristics can be associated with people
who are gifted:
(A) who are persistent, with low motivation, with usual ideas
(B) who are persistent, with high motivation, with usual ideas
(C) who are persistent, with low motivation, creative
(D) who are persistent, with high motivation, creatjve
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(D)ﬁasama‘maa%aa fiest < Garros mest Fu 32 3, wgs femesa e 3B

S. According to National Curriculum Framework position paper on education of special needs,
following can be directly associated with benefits of inclusion for students:
(A) Spending the school day alongside classmates who do not have disabilities provides many
opportunities for social interaction that would not be available in segregated settings.

(B) Children with SEN would not have appropriate models of behaviour.

(C) Children without SEN would find.it difficult to learn about tolerance, individual difference,
and human exceptionality by interacting with those with SEN.

(D) Inclusion offers limited opportunity to interact with each other

TIHSA, uwna%éfﬁﬁ»réuﬁﬁmﬁua%nmamfﬁm feast &5 faa3

o TR PSSO IR T RAT 06

(A)mwmwmew#hwmmﬁaﬁmwaas@e@aﬁm%@w
gaaTn%mnhaﬁaﬁa%ﬂa%?ﬁﬁmqﬁuﬁ%ﬂmwaz

®) fira3 dfonit fg felin 5393 ¥8 (SEN) Hge der 31 B <93 2 33 wss
J=a

(C)WWWW%W%H(SEN)W??% AfvsRat 3 feasndt feasrus
%a@eﬂamfa&w%m@aﬁﬂnme@(smmmm ‘

(D) R i R wmurt 3k5 3 @ R § Ul PR TS

6. When a teacher is assessing students in classroom, which of the following as an objective is
avoided considering it is an authentic test '
(A) give feedback to students about their performance
(B) assess students habits and repertoires
(C) minimize needless and demoralising comparison among students
" D) students individual aptitude, learning style should not be considered

ﬁeﬁammﬁmﬁammmﬂg&mfé&ﬁw@ﬂ@@
fereRty, HE-MieA AT ARTY -

(a) Hont § Qost & Dnardt & wEER

®) Hfomit S nirez w3 YEEs S gEt 99 niass I

© mﬁmﬁaaﬁmmmﬁlﬂzmma

(D)f’éawsnﬂ‘aaér ore 595 ¥ 3tfamit § Arfies &t ager grdter

7. Whenever you are making a multiple choice question, wrong answers are offered as choices
with the correct answer. These wrong answers are know as
(A) distractors , - (B) stem
(C) portfolio (D) rubrics
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magﬁﬁawfﬁ%mmwﬁﬁéﬁm%aﬁarm@@ﬂﬁ%
& mige 75| feost a82 gorat § 3R ot Ada

(A) s gz o3 ' (B) H&gU .
© UeeehE — (D) vz g

8. The basic idea of inquiry learning involyes following elements:
- (A) Formulate hypotheses, collect conclusions, accept reviews without reflection
(B) Collect data, collect conclusions, accept reviews without reflection :
(C) Formulate hypotheses, draw conclusion, accept reviews without reflection
(D) Formuiate hypotheses, collect data, draw conclusion, reflect on original problem

forft a3 Ue @ ugs vt wEart o foost RS oS I3t ¥ gfwr 3
(A) Ufsamue, fsmaan feald a3, fitst yge enirar uay
- (B) Y3 nita3 feld agw, fsnean fead, Rt faR yg oy yay fodldt aer
(C) ufsasuer, farmen garer, fast faR yse onrar uey
(D) ufsamer, mia3 fedd, foraan ga8a, nredt Ao uar

9. This stage is the time of sexual reawakening, the source of sexual pleasure now becomes
someone outside the family. The stage in Freud’s psychosexual theory is:

(A) phallic ‘ - (B) anal

(C) latency | (D) genital *

ﬁnnﬁﬁ%ﬁa&%w&@aﬁaﬁaﬁg@wm@zéaﬂnﬁsﬂaﬂ?ma

;t‘aera?maza‘m%l feT neREr “feafosn & retdRams fRER” fo &t
?

4 Bfo (B) Fer Addt
© ¥ (D) Az
10. The person responsible for the development and design of the first useful individual test of
intelligence is:
(A) Freud , (B) Bruner
(C) Binet (D) Piaget

feast f¥6* foaar ufoesr Quuieht feneters Sihaar & weow & feahis 3 58z oo
ot @& 0 ' ‘ &

(A) BTfes | : (B) 5359

© Tfedz o | (D) fipwm

11. According to Vygotsky’s theory, the process whereby two participant who begin a task with
different understanding arrive at a shared understanding is known as '

(A) intersubjectivity (B) scaffolding

(C) guided participation (D) reciprocal participation

TEtdRet & ot @ nigArs, e fafonr fg 2 firr 8z o g dn § ot mus o8
BY %32 95 U9 Qo 33 B i 73 fewrat ¥ o 112 0 @R § 3R ot aane

(A) Fearadifedt . | (B) HI&/Rast

(©). fIrr Bz et fsoem _ (D) yardfae fuR erdt
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12. According to Lawrance Kohlberg, children cannot maintain the constancy of their gender. They
attain this understanding only gradually, moving through the following stages:
(A) Gender struggle, Gender stability, Gender consistency
(B) Gender labelling, Gender struggle, Gender stability
(C) Gender labelling, Gender stability, Gender consistency
(D) Gender labelling, Gender struggle, Gender stability

HIH SoEId 2 nighrg, T U@ TFfomit e AfgesT adt =& rae fer dtF o T

f;:r% 3 -3 et 3 we feg R feost 36 fadnl ...eeveeeessseen., WIERES R
g6,

(A) féar-Auar, f8a rfaesr, @ar-fsdsasr

B) 8 Bufdar, fda- Augm, far-Afaasr

©) 5 Bafikar, fla-rfesT, Ba-fadzasr

©) fhar-Bufdar, Bar-ruen, Ha-rfagsr

13. There are two basic types of intermittent reinforcement schedules. They are
(A) continuous schedule and interval schedule

(B) interval schedule and ratio schedule
(C) interval schedule and slot schedule
(D) slot schedule and continuous schedule

T-fayprrEd ettt s
(A) T%E IfIE T8 3H 3 HO T 3H

(B) WU T 3 3 nigursSt 3H

() Ha T 34 m3 Taaurfaz 3H (slon)

D) fsgufaz 3 goe Ifox T BM(slot)

14. Personal factors, the physical and social environment and behaviour, all influence and are
‘influenced by each other. Bandura calls this interaction of forces as

- (A) modelling (B) strengthening inhibitions
C) reciprocal determinism (D) ripple effect
&t 33 matfox &3, mﬁawm@@ﬂamﬁamw&aé@mm@
itz 23 & yIfes & aR T
S Ausx ot fegt Bt § afder 3 ;
(a) Hsféar (B) FaStHS 9
() uamT fgz At (D) 3FIMSHA Y3=

15. A teacher wants to know about the level of accomplishment attained in her subject after the
completion of the session/term. She takes a test to complete this ob]ectwe The type of
assessment she is doing is typ;caliy
(A) formative assessment (B) textbook assessment

C) summatwe assessmernt (D) objective assessment

%Wmm%ﬁ%m%mh?m%ﬁﬁﬁam
fist 9 i3 far AZT 3 1 ﬁnaﬁ@a@a%nzﬁ%@amw@%nwa&n&n
figoar yEioE B a9 39t 31 8RF fu u feg ot afde T

(A) TEIHEIHT "S5 (B)ulsunsammfﬁsm

(©) FRfes nieEs (D) SRA=H NIeE
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16. Which of the following is not an example of ‘tactics for learning verbal information®?
(A) Attention focusing by making outlines, underlining
(B) Schema building by story grammars '
(C) Idea elaboration by self questioning and imagery
(D) Pattern learning by hypothesizing

%Wﬁ#ﬁwﬁﬁa%%wmﬁﬁl
~ (A) TS FTES (outlines), IYIAG (underlining) THar fons 8@1%3
(B) foraez I qg2t oo UinsT a8
(€) nniEt ST a9 feorst v fers™ |
(D) B3/(=) § ufoasusr &% Tt (Pattern)fifuar

17, e is generally not associated with constructivism.

(A) Vygotsky’s theory , (B} Classical conditioning
(C) Equilibration . (D) Self awareness
.................... fog AureE 39 I IS (constructivism) 3 AEfuz &3t X
(A) TR e fhais (B) USHUfa nrerar
(©) HF®s (D) FR-Fafadt
18. The ability to think about language as a system is
(A) referential communication ~ (B) speech register
(o} bilingualism * (D) metaliguistic awareness
I T 99 AuZ € Jrafens o ydy 7

(A) ﬁﬁﬁl’a’ He™ (referential commumcatlon)
(B) ¥H UAISGE (speech register)

(C) 2-3Ht (bilingualism)

(D)' ‘ag-sm"r arfadt (metaliguistic awareness)

19. Mastery oriented students tend to value achievement and see ability as unprovable so they
focus on
(A) expectations of others and have no goals
(B) mastery goals in order to increase their skills and abilities
(C) their lack of ability and consider it as source of failure
(D) mastery goals in order to avoid failure

-mmﬁﬁ»mm%a&m%%ﬁm?ﬁmmm%ﬁm
&gt 8a foowrs Aefos 9

(A) Boat I Qe fgt e &t €2m &t

(B) Ut Ha's3 e G nuR gt 3 Garsiet avs Tl

(©) »uFt G & it § 33 R w3 e

(D) HI'S3 BN ¥ T Jfont miRessT § wue niew

20. While assessing creativity of an individual, according to Torrance “On a graphic test (used to
assess creativity among individual),an individual might be given 30 semi circles and asked to
create 30 different drawings. In another task one may be asked to make a toy more fun to play

“with.” Responses to all these tasks would be scored for three aspects of dlvergent thinking,
which are
(A) originality, fluency and flexibility
(B) originality, flexibility and diversity
(C) fluency, diversity and concentration
(D) diversity, flexibility ‘and concentration

PaperIl: QB.Series4 s — Page 6



21.

22.

23,

237 2 nigAg e it R frerersias & A9 a9 OF 3, “nis & griea SRS (TRS
2 MRre FdRde mta fesstSss it Qost §-30 #iY B fef 3 &I for 30 =we fise
6| 39 g0 aH e a9 fx g fidd w6 ot o wilt % 831 feost o it &
T nifxs J9 AaR T, T35 2udt Re 2 ufost 5 v 36

(A) NAEMS, 9239 3 FTHHUS ‘

(B) MRS, THSUS 2, TUTUS
(©) azara,euaim%féalmaaf
(D) UG, FUIBUs I feamaEsT

In one of the studies designed by Eleanor Gibson and Richard Walk (1960) they designed
visual cliff for children. It showed that babies are able to judge distance of objects from one
another and from themselves. This ability which helped them for understanding the layout of
environment and for guiding motor activity is termed as

(A) distance perception

(B) visual acuity

(C) depth perception

(D)} visual discrimination ’

@ B niftds 2 95 (visual cliff) BSB89 foans »3 feons 27 3 (1960) 9
ot w2t R duz it T i a1 fam e feg Sfimr fix 593 82 Sfonf 3B
éﬁeﬂg@a@%ﬁﬁﬂé?@wégﬁ@n@ma@séﬁa@wﬁajﬁ
) feg Gfosr @ fx fogt 5oz 22 ot § »ud WA UR ¥ TR § S 3
EIFPHEHRS (motor activity) B HTIaT SIRG gt J feg 3

(A) gé:\' AUt AHS (distance perception)

(B) 'R';,'HZT ot FE3T (visual acuity)

{O) Jifadt AHS (depth perception)

(D) fgASt 3EF= (visval discrimination)

A pre-school child after seeing a zebra at the zoo, calls out “Horse!”. Which of the following
processes he is using?

(A) Accommodation (B) Assimilation

(C) Organization _ (D) Seriation

fir - o fefemraet, fafanr-wg R deer § TR QA § ‘u go8et 31 ¥
Tt R SR forodt fedt & =a3" it -

(A) AHTAR®(accommodation) (B) WH-fH® A& (assimilation)
(C) Hdi55(organization) (D) AEEUS(seriation)

Children acquire selective, adaptable attention with the help of gains in two components of
executive function which are

(A) acquisition and inhibition strategies | (B) planning and acquisition strategies

(C) inhibition and attention strategies ’ (D) planning and assimilation stratcgies
3 gramerdt 9 7 fx i 39 § At a1 5 9o 3 miue'@E B I3 AR T
(A) Yyt 3 migdy gAE | B) Gra' 3 yudt SISt

(€) ga=e 3 s =5 (D) T 3 we-fies Az o sEdSt
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24. If a child is able to draw conclusions by applying rules or principles; logically moving from a
general rule or principle to a specific solution, we would say that

(A) the child is able to apply deductive reasoning

(B) the child is using assimilation

(C) the child is able to apply inductive reasoning

(D) the child is using analogies

A 32 dor AW 3 thuist s ot fegar B ) mm@amﬁwgzwmeﬁ
Tger 3 niFt ferd ot a0t

(A) Yo fOBT3HA 9T &Y 95 @ GaT 3

(B) HO" MEI®3 (assimilation) T FER3HS ger
(C) H9" PARTSHY TIE &g &I 2 Tar 3

(D) ¥9r goor = fendus ager Y

25. Which of the following is not Kohlberg’s stages of moral development?

(A) Preconventional moral reasoning
(B) Postconventional moral reasoning
(C) - Conventional moral reasoning
(D) Neoconventional reasoning
feast Is faftmit 7S faoar ‘araagam’ 2 Afsa feam & nierer 5 Y
(A) Yoz et ¥fsa SIA(Preconventional moral reasoning)

' (B) foofes fig 3z W(Postcoiwentional_moral reasoning)
() foerist 3fsx 39a(Conventional moral reasoning)
(D) afoerfedt 3fsa S9ANeoconventionat reasoning)

26. Special material, equipment and stratcgles that specifically help students with low V1S1on to
function in regular classrooms include

(A) large print typewriter

(B) use of sign language

(C) finger spelling

(D) use visual cues as often as possible
ﬁwmﬁaﬁ%ékmmmﬁﬁmﬁwééﬂmﬁamw
" Tt v st —feast R4S St mriis s9s odter D

(a) 3 fije T fefiln ity

(B) fogt < gvar ur yeiar

(©) St 23 nhyg |
(D) BYE Ga1 753w fiprer ondvs a9

27. Which of the following is not directly associated with policy for inclusion?
-(A) Salamanca Statement and Framework for Action (1994)
(B} Kyoto protocol

(C) Biwako Millennium Framework targets on education in the second Asian and Pacific
Decade of Disabled Persons (2003-2012).

(D) Dakar Framework for Action on Education for All (2000)
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fogst & faoa re 3 fifor e & SISt o Aafas &t 31
(A) FEHGST AZENZ M3 QHEIA T NIaRS (1994)

B) dfge-yeas
©) fea-Hafear Praa, mwamﬁzméaénafbseﬁfﬁsm%ﬁﬁf‘aa
3z mie SSHRSES UIHGT (2003-2002) Wdlar 3t @ fefonr €3 Yefaz ¥

(D) A3 2 T fiftonr 3 Troeet TRI 31T QUTIR BT MIH(2000)

28. A dis an inborn, automatic response to a paniculai' form of stimulation.
{A) resilience
(B) conditioning
(C) reflex
(D) control deficiency
.................. firg f¥x TS, IR iy e T T f wA @3waT & nieAer 3
(A) m(Remhance)
(B) ASMATENConditioning)
(C) yssfenr a'rEmT(Reﬂcx)
(D) g I =" &9 (Control deficiency)

29. In oo conditioning, infants act, or operate, on the environment, and stimuli that follow
theu: behaviour change the probability that the behaviour will occur again.
(A) operant (B) classical
(C) retention (D) pumshment
.................. n5Ees, 993 22 ¥ fen forrg o T93 i3 W, TaveeE g e

?eéreasrefeaﬁgmarﬂéarr

(A) AgISt/fafonr HisaT (B) I@HIES/IIUIfGR
(C) I & . (D) A

30. Which of the following are two major features of Piaget’s formal operational stage of cognitive
theory?
(A) l-I}-’Iypotheucca deductive reasoning and Propositional thought
(B) Spatial reasoning and Hypothetico deductive reasoning
(C) Seriation and Propositional thought '
(D) Spatial reasoning and Propositional thought
wmﬁﬁéeﬁmﬁ%ﬁ%%m%mm%émmﬁg
%)

(A) TEN; Bfed A3afes fonfda m3 Yusitnes feo
(B) AE's Had feafsar, ordhidfed st3afes fonféar
(©) PSEEs i3 Yudiess e

(D) AES A foafdar »3 Jufarss feor
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Ui 3R yEs 399313 60
It fardbort rfie RSt § fowrs s ug w3 3 o ymst ¥ €°39 fe6: yrs S99313° 37

“g gt A3 © ye,

fa€ flumdt s 3dt 35t fsara?

fan &8t geafont e miar feg,

@ Age nra? ;
37 fes & 3 faR 33t I & yEw?
ot ¥ 5% a9 Bfenr wes Har

3 we-ww Bty

3 At Qo gomdi

AR 3 Ag wE A

3= &t 33y & gt ot

99 2t I3y & A It

R 39t famedt &t fomt fou fex <@t
fea Bara|

3% fomamit O o,

7 N w73 Tadtt fieat § —

H3 a3 3 nmu?

A R amy-filedt 2 o33

gg fodt st fimet fiost 3at @ a0
M fomr 3 Aer yo

it it 8y 3t B T
33 39 It § U iR 3 B,

39 3t vt

A 3 979 3f g e ¥ wE-wl e
39 3 adt fos mfte

A3f usasua R e § 393
IFuzIsTUAFT AT § 0T 3|
R WBRTBEAgzTaeae”

31. e¥fanit @ &% At < afer 30

(A) mitg ®) e

© wE (D) fost feg at &t
32, 33, H319, Hoe fan ot 293 057 '

(A) B3t T , - (B) Yuat =5t

(©) fesmrst &t , (D) A feamy
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33.

35.

36.

37.

afe- & fom 3 Wz A

(A) = : @) mid

©w«®w ' (D) A feamy
. wﬁ-ﬁeﬁaﬁeaﬂﬁhﬁﬁa‘?ﬁsma?

(A) T53 Tt “(B) vufdd

(C) Ty Tt | ) e feamu &t

famdt § fod usfor 37

(A) el feg (B) Jat feg

(C) aBn fee ~ (p) A femu

Jafrt T Aigl XI5 TF AT 37 |

(a) J | (B) »Hig

(©) TSt" : ®) agt &

afezr feg 33y o g=faar 97 |

(A) Yr3HT , (B) Hal9

C) A5 D) feat fev" 3t &t

35+ fisit 03  fros a uF w3 I3 AR yms @ ' o~ yw AEI38545

3= fiydz fou 95 @ 2u W & wt 93 3 W 33a g3 A et A @R § ISt
@Mmﬂg&ﬁm&&ﬁ%wﬁa@ﬁmﬁﬂanﬂ‘@aaﬁnﬂmwadﬁ
gl a9t /) 38 = afgar 89 Heset Hit | g Jy Tt 1t 7 wo 3 =@t AL, Se @t
SRR =B fus mraR fos foumt AR 1S T5T| m%@aﬁz"rﬁﬁaﬁ]?aa*m@ﬁf
fan @59 ug T e & uw feu w3t 36t ﬁﬁ*%ﬂ'sfeafeaavsaaa‘rﬁ-lm -

it

e §2 6 3wt S dfent & <6 W g2 uEe A o A § e deer
5 A5 3 Hee O &% oed & geardt § war iR As | A o3 @ 89 fes nm 37
RNIFauo IR A WeosRkwkaSHAauvgae st /1 @RS
it 2 3 €3 f35 985 N 7o | -t Av fema farr A 3aug 2 R A g
B 93 S| 3T SRt At g 3F Irfort @iar Rt w1 R BR fos 3 T B
fipor 3 fomr 51 23 81 3 )i €3 fae@dimt 2 af wdini gEabit B ity Her
gaénﬁmmé%nmagsaw%arau%§ﬁa3éwﬁwﬁmmlﬂs?§‘ﬂw
2w o1 38 2 yTv2 e § OF o 5 39 RIS W R g R wlownt B

e gETEm | %‘E?ﬂﬂ#ﬁ%é’rwmﬁh Qo affdt /t fa i 39 W Aeve &

%1 Bl fou 3R ma R ot Ao aE R Yo R s €I s AH ER B3 wT &
Wt feR § e it it fex AR @ wdt A 73 9B niHaS 1°T S Aiff
Fa@e foor 3 o Qa5 It § it fem U 38 Ay a9 fder) HEs I8 yEt S
ﬂmﬁwn&fmﬁaﬁﬂ&%ﬁﬁﬁ%ﬁ%aﬁwmﬁmaﬂ?ﬁﬁyﬁmmﬁ
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38.

39,

41.

42.

43.

45.

47,
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(A) TS (B) Tt
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(A) UA fise (B) uA fHae
©) 73 fise ) fegt fo 3 &R
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(a) R (B) Far
(C) T | (D) A feamu
wd S efardt far 2 At
A Ty  (B) 3R
(C) 3T | _ (D) A feamu
. 3= ¥z fou ¥ & & a=at /Y
(a) 32 fgE (B) B3 I3
(©) wfonit % Azt (D) 7 feamy
3T AN 3 A3 aE g A
(A) S T3 oz ®) oY TS fos
(C) it o3 fom (D) fegt feg a2t &t
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(A) Tomas A 1 (B) &= fivor He 3
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48.

49,

50.

51,

52.
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(A) s fui &8 - (B) &H IHHT &%
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B) feR 5@ St St T -2udtolt Fgast § YT iz 7 AIET J1

(©) fen o nifowrug & fHoas 3 AN S Ees F& 0
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(B) B0 ¥3 § 8twr muef 2 A wigy T@ Aue dardt [RE <R

©) B reet & g it I 2 Hee yHa Tee 98 8Rg gu9E)

(D) 80 ¥ § X &9 Adt I goIBE &R &9 |

St T S AR 0 T Fe 3 e e fam § €T

() Hfonit gorrar feR3HTS SISt it nRBaTfa ST §

53.

(B) St 3 ya=fani—nrrE & yuidl §
) Hfomit ¥ gami 3 AR IE—YGA §

(@) forefEa U T HAIH

%Wﬁ-ﬁﬂix"u’?U@@E?ﬂ?%‘%ﬁﬁQﬂE@H%l
(A) Ut ot MR 3 ArEedt Yus SS9
B) UFt It IR T AEECH TITEE

(© Ut Tt mERt ¥ nrore 3 feren deE

. (D) 2Ft-23t fadt g < vgrz a5e

54.
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English Language Question Number 61 to 90

Passage 1: Please read the passage carefully and answer the questions 61 to 67

61,

Paperl: Q.B. Series4

A Streetcar Named Desire is a classic of the American theatre. Tennessee Williams’ landmark
work was a tour de force in its original stage production in 1947 and continues to resonate with
audiences and readers today despite—or perhaps because of—its simplistic though layered
story. A faded Southern belle, Blanche DuBois, arrives at her sister’s seedy New Orleans
apartment where she is tortured by her brutish brother-in-law, Stanley Kowalski. Blanche puts
on airs of class and happiness throughout the play, though internally she is miserable and
haunted by her tragic and scandalous past. Stanley forces Blanche to face her dolorous reality
with his vitriol and, finally, his act of sexual aggression, and in doing so, he causes her to lose
her tenuous grip on sanity. Most have argued (correctly) that the play is about the ways the past
haunts our present or (again cormrectly) that it is about the ways class and sexuality impact our
lives. However, few have seen the play for what it is: an allegory for the theatre itself. Before
Williams wrote Streetcar, the theatre had been dominated by melodrama. A brief interlude in
the 1930s brought political theatre to centre stage (pardon the pun), but by the 1940s, its
principal playwright, Clifford Odets, had left New York for Hollywood, and the sensationalized
and mandlin form of melodrama once again flourished. The theatre was in limbo, and Williams
had a desire to bring something new to the world. It would bring the realism of the political
theatre of the 1930s but without the political (read: socialist) underpinnings. To that end, he
created lifelike characters who spoke in realistic dialect. But to make his point that melodrama
was flawed, he added an equally unrealistic character. Blanche, unlike the other characters,
speaks theatrically, acts larger than life on stage, and uses floral language and heightened
mannerisms. Blanche is a character not to be trusted. She lies about everything, and the only
thing that finally exposes her lies is reality itself: Stanley. He finally forces her off the stage and
into the insane asylum by forcing himself on her sexually. And with that, realism forcibly
removed melodrama from the stage. '

It is not possible to imagine A Streetcar Named Desire without the influence of Marlon Brando,
the actor who rose to fame playing Stanley Kowalski. On the page, the part is fairly simplistic.
Stanley is a monster and a beast without any redeeming qualities. But Brando and the play’s
original director, Elia Kazan, imagined the character as having a soft underbelly, rooted in his
own sorrow, insecurities, and soulful complexity. Brando’s Stanley is a brute, yes, but he isa
brute who hates the fact that he is so awful. He is also unable to control himself and his
passions, and this lack of control is equally embarrassing to him, even as it is also threatening
to Blanche and alluring to her sister Stella. For instance, after he hits Stella, he comes back to
her, famously begging for forgiveness by shouting “Stella” outside their apartment. But in
Brando’s depiction on the stage and later on the screen, he is soaked from the rain and looks
completely desperate, as though he needs Steila to live. He looks and seems totally helpless and
weak, the exact opposite of the brute he appears later when he forces himself onto Blanche. The
play is excellent and memorable, even when read. But it is Brando’s interpretation of the male
lead role that makes the play indelible. Without Brando, the play would still have a deep
meaning, but with Brando’s interpretation, the play becomes even more profound.

In the passage author focuses on Marlon Brando’s portrayal of Stanley Kowalski
(A) as being particularly memorable and powerful .

(B) working on high-quality script or unparalleled acting

(C) being successful with one but not with the other part of the portrayal

(D) in the light of Tennessee Williams® skilled writing



62.

63.

65.

67.

Brando's interpretation of the play makes the play indelible owing to :
(A) It being a good play '

(B) The portrayal of Kowalski's helplessness coupled with brutality
(C) The profoundness inherit in the play

(D) The enactment of the supporting cast.

Paragraph 1 of the passage provides each of the following except
(A) acritical interpretation of A Streetcar Named Desire

(B) an explanation of why modern audiences connect with A Streetcar Named Desire
(C) background information on the times that produced A Streetcar Named Desire
(D) the author’s main argument concerning A Streetcar Named Desire

It can be inferred from paragraph 1 that A Streetcar Named Desire
(A) was Tennessee Williams® first play

(B) . is better on stage than in print
(C) did not have socialist leanings
(D) was not melodramatic

According to paragraph 1 .in the passage the character of Blanche DuBois
(A) . is intentionally overdramatic and theatrical

(B) is recently married to Stanley Kowalski

(C) is brutally honest and frank during the play

(D) is firmly rooted in realism and sanity

Paragraph 2 in the passage argues that Marlon Brando’s portrayal of Stanley Kowalski
I.  earned the actor great fame ' '

II. is more nuanced than the part that is written

II. is what really made A Streetcar Named Desire a classic

(A) Ionly " (B) Honly

{C) Iand II only : (D) 1,11, and I

Both paragraph 1 and paragraph 2 in the passage argue that

(A) the New York theatre scene was blown away by A Streetcar Named Desire
(B) Tennessee Williams wrote A Streetcar Named Desire to end melodrama
(C) A Sueetcar Named Desire has more than one true meaning

(D) A Streetcar Named Desire only has power when performed on the stage

Passage 2: Please read the passage carefully and answer the questions 68 to 75

Paper I B.

Many great inventions are initially greeted with ridicule and disbelief. The invention of the
airplane was no exception. Although many people who heard about the first powered flight on
December 17, 1903 were excited and impressed, others reacted with peals of laughter, The idea
of flying an aircraft was repulsive to some people. Such people called Wilbur and Orville
Wright, the inventors of the first flying machine, impulsive fools. Negative reactions, however,
did not stop the Wrights. Impelled by their desire to succeed, they continued their experiments
in aviation. Orville and Wilbur Wright had always had a compelling interest in aeronautics and
mechanics. As young boys they eamed money by making and selling kites and mechanical
toys. Later, they designed a newspaper-folding machine, built a printing press, and operated a
bicycle-repair shop. In 1896, when they read about the death of Otto Lilienthal, the brothers'
interest in flight grew into a compulsion.
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68.

69.

70.
71.
72.

73.

74.

aer I B. Seri 4

Lilienthal, a pioneer in hang-gliding, had controlled his gliders by shifting his body in the
desired direction. This idea was repellent to the Wright brothers, however, and they searched
for more efficient methods to control the balance of airborne vehicles. In 1900 and 1901, the
Wrights tested numerous gliders and developed control techniques. The brothers' inability to
obtain enough lift power for the gliders almost led them to abandon their efforts.

After further study, the Wright brothers concluded that the published tables of air pressure on
curved surfaces must be wrong. They set up a wind tunnel and began a series of experiments
with model wings. Because of their efforts, the old tables were repealed in time and replaced by
the first reliable figures for air pressure on curved surfaces. This work, in turn, made it possible
for the brothers to design a machine that would fly. In 1903 the Wrights built their first
airplane, which cost less than $1,000. They even designed and built their own source of
propulsion-a lightweight gasoline engine. When they started the engine on December 17, the
airplane pulsated wildly before taking off. The plane managed to stay aloft for 12 seconds,
however, and it flew 120 feet.

By 1905, the Wrights had perfected the first airplane that could turn, circle, and remain airborne
for half an hour at a time. Others had flown in balloons and hang gliders, but the Wright
brothers were the first to build a full-size machine that could fly under its own power. As the
contributors of one of the most outstanding engineering achievements in tistory, the Wright
brothers are accinately called the fathers of aviation.

The Wrights designed and built their own source of
(A) force for moving forward (B) force for turning around

(C) turning : (D) force for going backward

The wright brothers were the first to build
(A) the most outstanding plane.

(B) the plane that could not turn and circle.
(C) the balloons & hang gliders.
{D) the full size machine that could fly by itself.

The idea of flying an aircraft was to some people

(A) boring (B) distasteful

(C) exciting (D) needless

The negative reactions of the experiment repelled Wrights brothers to continue in
(A) their invention of machine (B) to abandon their effort

(C) to stop their desire to succeed (D) search more options for flying

People thought that the Wright brothers had .

(A) acted without thinking (B) been negatively influenced
(C) been too cautious (D). been mistaken
The Wrights® interest in flight grew into a
~ (a) financial empire (B} plan
{C) needto act (D) " foolish thought
Lilienthal’s idea about controlling airborne vehicles was the Wrights.
(A) proven wrong by (B) opposite to the ideas of
(C) disliked by o (D) accepted by

Page



75. The old tables were and replaced by the first reliable figures for air pressure on curved

surfaces. _
(A) destroyed (B) invalidated
(C) multiplied (D) approved

76. According to Critical Period Hypothesis, which of the following factor is linked to the language
acquisition process:
{A) Biological Age (B) Motivation
(C) Intelligence (D) Aptitude

71. The objective of Three Language Formula is to ensure:
(A) The promotion of Hindi as the national language
(B) The promotion of multilingualism in the curriculum
(C) The promotion of regional languages at least as a third language
(D) The promotion of English as the connecting language

78. Which is not a compulsory component of Model Reading ?
(A) Correct Pronunciation (B) Correct Spelling
{C) Intonation (D) Stress and Pause

79. Which one is not a method of teaching spellings 7

{A) Dictation (B) Dictionary
(C) Driil (D) Dramatization
80. When grammar is taught not as a separate subject but along with the graded readers, it is
(A) traditional grammar , (B) functional grammar
(C) comparative grammar (D) ali of the above
81. Two and two makes four. This sentence is
(A) Imperative . (B) Optive
(C) Assertive (D) Exclamatory
82. Which of the following is not a fundamental principle of programmed instruction text books ?
(A) Self-pacing ' (B) Active responding
(C) Passive responding ‘ (D) Immediate confirmation
83. Which of the following perspective proposes language td be a biological process?
(A) Innatist (B) Behaviorist
~(C) Constructivist (D) Interactive

84. English is given the status of:
(A) Official language of India (B) International language of India
(C) Associate official language of India (D) National Language of India

85. Theatre activities in language classrooms:
{A) Enhance the confidence of the learners
(B) Improve their dialogue delivery
(C) Improve class coordination
(D) Enhance creativity in language use with expression

.paer - _ .ries4 - o - p— pp— : — -



86. Asking learners to suggest an alternative title to a story, would:
(A) Confuse learners about the values of the story

(B) Encourage them to revisit the story mentally and think critically about it
(C) Demotivate leamers about story telling sessions
(D) Make them doubtful about their own understanding

87. Writing can be best enhanced through:
' (A) Drill activities
(B) Memorizing given samples by heart
(C) Reading many samples before writing
(D) Preparing drafts after brainstorming and editing further

88. “I cutted the cake into two equal halves, and gived one to my younger brother”. The error made
by the child in the above sentence is due to:
(A) Overgeneralization ‘ (B) Misinformation
{C) Transference (D) Omission

89. Mult1med1a resources:
(A) Are an excellent replacement for tcachers in all classes

(B) Can be used effectively with higher classes only
(C) Create ambiguity in the minds of learners
(D) Can be explored as a learning resource if used judiciously

90. An ‘Essay on the topic ‘Poliutlon is an example of :
(A) An Expos:tory text (B) A narrative text

{C) A historical Text (D) An Imaginative text
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SECTION-B
Mathematics and Science (Bilingual section) Question Number 91 to 150
, . ¥H-B _
afes mi3 fefomirs (B-3t) Yy $59913° 150

91.

92.

93.

9.

95.

Paper I :

(Mathematics (Question Number 91-120)

afE3: yas 39991 3120
If the difference of mode and median of a data is 24 , then the difference of median and mean is
(A) 12 _ {(B) 24
©) 8 . (D) 36 |

A9 R 998K (mode) 3 WU (median) ® 372 € nizd 24 3 I 1o 3 ggsa T visg &
G5 , |
(A) 12 (B) 24

© 8 : _ (D) 36

'I/‘he radius of a spherical balloon increases from 7cm to 14cm when air is pumped into it. The
ratio of surface area of original balloon to inflated one is

A 12 , _ (B) 1:3
©) 1:4 (D) 4:3
R das o e soz sw R e nRu fonmA Tem 3 14 emFa Afe 1 feR @
ASU O U39E% T MU' WAS I YIS o dear?
(A) 12 | (B) 1:3
(©) 1:4 (D) 4:3

A boat having a length 3m and breadth 2m is floating on a lake. The boat sinks by lcm when a
man gets on it. The mass of man is ‘

(A) 12kg (B) 60kg

(C) T2kg (D) 96kg

fox fardt # fa St R <orcht 3 Gret ot 3 m 3 I3 2 m D1 foo fmht R et
@ for 39 ¥z &% 1 cm Fa AT I 3t ¥ wret o UR (mass) ot 32m9

(A) 12kg (B) 60kg
(C) T2kg ' (D) 96kg
If Y10 = 3.162 , then value of 1/¥10 is

(A) 03162 | ‘ (B) 3.162
(C) 31.62 \ (D) 3162

AAIVI0 = 3.162, 3 1410 T H'E J3m

(A) 03162 (B) 3.162
(C) 31.62 ‘ (D) 3162
The square root of (7+3V5)7-3V5) is .

(A) 5 ®B) 2
© 4 (D) 3Vs
(7 +35) (7-3 V5) & TS I ;

(A) Vs (B) 2
©) 4 , D) 35
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96. The éompound interest on Rs 16000 at 20% per annum for 9 months, compounded quarterly is

97.

98.

99.

(A) Rs.2520 (B) Rs.2521
(C) Rs.2522 (D) Rs.2523
9 H3tS BE 160009UR 3 20% Taeaat fanr fiser 31 fanrdt saeaSt R JRar
(A) 2520 gUe . (B) 2521 qu
(C) 2522 QU : (D) 2523 que

Jasmher and Ramel went to buy pens. They had the same amount of money at the beginning
and both of them bought same kind of pen. Jasmher bought 5 pens and is left with Rs. 100 and
Ramel bought 7 pens and is left with Rs. 20. What is the cost of one pen?

(A) Rs. 20 (B) Rs.30

(C) Rs40 (D) Rs.50

ARfHTT 3 9im 92 U5 udles o) é?%éanaféaf‘é&ﬁﬁguéﬁr%éa*%fé&
ﬁ%ﬁauﬁl@mﬁm%sﬁauﬁl@?@néslmm@a%%m%7ﬁamﬂ%§@n
3% 20 QU =9 | e Vs < ez off IR '

(A) 20 FUB | (B) 30 U8

(©) 0qu@® (D) 509u2

In a party, there are three different sizes of pizzas of radius 7 inches, 9 inches and 12 inches. 7
inches pizza is sliced in 7 slices, 9 inches pizza is sliced in 9 slices and 12 inches pizza is sliced
in 12 slices. If you have option to choose only one slice, which pizza slice is the largest?

(A) 7 inches pizza - (B) 9inches pizza '

(C) 12 inches pizza {D) Al are same

iz uradt feu s Su-Ad wiarg @ i 95 7 fx 7 e, 9 B9 3 12 o mgu famm @
T 7Ee R fur ¥ 7 fR, oo B iAo R s eS fimr 2 12 fR A3
2| Ra@ 3 i fifr gaEr 37 3 fxowr fdar Ism R_am?

) 1gswfimr ®) 9 ¥ Twr il

©) 12f¥g T figr " ' (D) A fedt T

In the figure below, Floor plan of an office is given,

I - Reception
I -»>Washroom

I <»Conference room
IV ->Main office
]

Both office and washroom are squares with areas 64' m* and 4m? respectively whereas
confcrcncc room has an area of 96 m?. What is area of the mcepnon?

(A) 32m* (B) 34 m?

(C) 36 m (D) 38 m?
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5 fady ¥ e mifen @ T9m & Grer fit 3t 31

1 DRSS aHT'
n > ofede
Il > &SIH gH
vV > Hy 2839

nifer 3 arfede & aaﬁarmmfmjreram(m)am%4m2%%am%‘n
JH T USTESH 96 m* T | ARGIS I T BIISH A J2ar?

(A) 32m?

(B) 34m’

(C) 36m’

(D) 38m?

100. On a map, 1cm represents 400m. A distance of 4cm on the map is

(A) 16m - (B) 160 m

(C) 16km (D) 1.6km
WWMmﬁlcm%Wﬁgqﬂggmal mﬁﬁ?4cmé’§ﬁ'@aﬂ'?
(A) 16m (B) 160 m

(C) 16km (D) 1.6km

161. Which of the following relationship is true?

(A) I-Whole numbers , II — Natural Numbers , III - Integers , IV — Rational Numbers
(B) I-Rational Numbers , H - Integers , IIl - Whole Numbers , IV — Natural Numbers
(C) I-Natural Numbers , I - Whole Numbers , III - Integers , IV — Rational Numbers
{D) None of above

ar| QB Se”e54 p—————vw——— pm— P2
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It fzr forazr Ada At 37

(A) 1YIZ wid, I Yfaasa e, I YS=ia i, IV ufaRw mid (Rational Number)
(B) 1- ufgNT i (Rational Number), [T Yg&a i, T Y& nid, IV yfxasa vid
(© 1 Yfaa3a vid, 1 YI& i, [ YI=ia mid, IV ufanw nid

(D) Gudaz et & &t

Question No. 102-103

102.

103.

Five friends are going for a picnic. The table below shows how many sandwich and juice
bottles each friend brought to share.

Names Number of sandwich Number of juice bottles
- Namrata 4 3

Preeti 6 7

Rabia 3 3

Ruchi 5 6

Sana 7 9

ﬂﬂenamaﬁwéwaﬂaamsfﬁéfyﬁwﬁa#ﬁwwﬁw%@ﬁ*ﬁ%#s&a%aﬂ

it 835" o5 BT SEt BEMT
aH Pafes & Rfowr aﬂénﬂﬂwaﬁﬁmrr
SHIST 4 3
ytst 6 7
I 3 3
gat 5 6
Ty 7. 9

How many sandwiches will each friend get if sandwiches are shared equally?

(A) 25/5 ®) 6

(C) 28/5 D) 25

Aad A Sngt g Rafes goa 93 wE 3 0o @ns § 3B Asfeo 17
(A) 25/5 (B) 6

(C) 28/5 D) 25

Sana has brought maximum number of Juice bottles. How much Sana will lose if juice is shared
equally?
A 4
(C) 18/5

(B) 19/5
D) 17/5

m
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Fo" 3 ¥u ¥ U gn It 855 fnrding o5 | 73 gA & gaead S AR 3t A §

niyd gr 3 fdar gr e fifenre
(A) 4 _ (B) 19/5
©) 18/5 ) 17/5

104. Mr. Tyagi is a yoga instructor. He wants his 600 students to sit in such a manner that the
number of rows is equal to number of columns. How many students will be left out in this

- arrangement?
(A) 14 (B) 24
(C) 50 (D) None

it Bt fx Gar i@z =8 wiftinu 351 8a ma@ coofefenradintt & fer s
o5 fas@e ok o5 fa wfest & foret 3 et & foet a9 21 fer sodta few

{3 fefonradt wow sfowradts |

(A) 14 : (B) 24 _

©) 50 . (D) &t & &t

105. Measure of the two angles between hour and minute hands of a clock at 9 *O clock are

(A) 60°,300° (B) 270°,90°

(C) 75°,2850 (D) 30°,330°

ule 3 fie St geint 2 feaared ¥ St § v, FagwRt oW =

(A) 60°,300° (B) 270°,90°

(C) 75°,285° (D) 30°,330°

106. Aakash and his friend are playing Ludo with 2 dice. They need a total sum of 8 on the face of
dice to win. What is the probability that Aakash will win”
(A) 8/36 (B) 10/36
(C) 5/36 _ D) 6/36
waH 3 G 39 g3 € ofer am 332 051 €57 § sz st SfeR @2 s s S
grdter 31 o v 2 filss & dews I At A7
(A) 8/36 _ (B) 10/36

(C) 5/36 (D) 6/36

107. The Single discount which is equivalent to successive discounts of 25%, 20% and 10%
is '

(A) 55 % B) 54 %
© 46% (D) 45 %
et g2 (discount) 7 & FHET 25%, 20% 3 10% g=  Tovea Jk ...........
(A) 55% (B) 54 %
(C) 46 % ' : (D) 45 %

108. A 5 cc cube is painted on all its sides. If it is sliced into 1 cc cubes, how many 1 cc cubes will
"~ have exactly one of the sides painted. : :

A9 : (B) 61

(C) 98 (D) 54

B 5 cc ® wx § ot 3 Sfamr w2 3 AT AN § 1 o w D Zafr g I3 famr

A2 3t 1 cc T I3 wE =9 fivgt T firoe ¥ ur yar S e

(A) 9 (B) 61 -

(C) 98 _ (D) 54
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109.

110.

111.

112.

113.

114.

L)

f(x+2)and (x- 2)arefactorsofax +2x-3x2+bx 4, thenthevalueof a+b1s
(A) -1 . B 1

<€ 7 - (D) -8

AXI( x + 2)3( x — 2) TEA TSax* + 2x - 3x + bx 4 , s/ a+ b HIG ot Jearr

(A) -1 (B) 1 ’

< 7 : D) -8

A solid metal cylinder of 10cm height and 14cm diameter is melted and re-cast into two cones
in the proportion of 3:4 (volume) , keeping the height 10cm. What would be the percentage
changein the flat surface area before and after.

(A) 9% - _ (B) 16%

(C) 25% D) 50%

¥ oz = Ad3T fam & @t 1oem 3 fenm 14cm€rm%fenaﬁnwa%
ﬁg(cone)ﬁa g fapr | fem & wifese (volume) 3:4 @ nigurs g 31 fer & Gordt
10cm Fdt 7Y fem & ufoelt 3 gmme & AHSs AST ¢ A3ves R ydie o seme
ATy _

(A) 9% | | (B) 16%

©) 25% ' - (D) 50%

The circumference of front wheel of cart is 30ft long and back wheel is 36ft long. What is the
distance travelled by cart when front wheel has done five more revolutions than rear wheel?

(A) 20ft (B) 25ft

(C) 750ft (D) 900ft -
fea ISt F Ufsd U T WTT (circumference)308C B3 3 fug® R v uTr 36 g &
fimrar a9 maet 3R

(A) 20%2 . (B) 25%2

(C) 75082 (D) %0 -

If the lateral faces are perpendicuiar to the base of a prism , then it is calied a
prism.

(A) right (B) triangular

(C) quadrangular (D) pentagonal

Aaa fea Yan @ 87 = umr YAHATST (perpendiculan) I FER F oovveeccnceccnecnnnee. e
faar A | '
(a) fiar ®) f3a=r

(©) BigH= T (D) Yol

Reciprocal of which number is zero

A) 1 (B) Does not exists
(C) Zero (D) 10

a3t Aftpsr 2 USAUT (Reciprocal) w9 dear

A1 @) dor &R

© 3 ' ®) 10

Square has a rotational symmetry of order

A) 1 B) 2

© 4 D) 3
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(A) 1 (B) 2
© 4 _ (D) 3
115. The heigﬁt of a rectangle in a bistogram shows the
(A) width of the class (B) upper limit of the class
(C) lower limit of the class (D) frequency of the class
e ez & ot & ne3 93T TORBE T o,
(A) FHS & et (B) 3 o Quast i
(€) FH'S B It HitHr (D) 7HS & gdgesT
116. Teacher wants to introduce the topic 'Money Transaction'. Which of the following strategy she
can use: _ _
(A) Use of models (B) Use of ICT
(C) Roleplay . (D) Solving lots of problem
m?ﬁwm%“nﬁwﬁaﬂﬁ”l :
fen &' faasht Saditst Bn &t me 3 St 39
(A) H'3® & feR3HS agar (B) IHfuBzT sadlx (ICT) T feA3HS
(C) B uB - (D) =973 A A § Aeele

117. Why should teachers involve themselves in in-service math programs?
' (A) To meet fellow teachers

(B) To discuss about the issues of teaching and finding out solutions
(C) To create a learning environment outside the school
(D) To keep oneself updated with latest incentives for the teachers

M%WﬁanM%»ﬁmmﬁgﬁ?wma?
(A) niru@ Aret niftmuat § fies w2t

(B) UFER AN miBE Taitmt mifiriet 99 ¥ 3 avors da

(©) Ag® T ¥99 fiuz o o3egs sa@ar

(D) niftpruat § fHBE T8 & (incentives) ¥ T AN nigHTa Taardr da7

118. The sequence of steps for systematic problem solving skills is:
(A) Insight, Thinking time, Preparation, Verification
(B) Preparation, Thinking time, insight, Verification
(C) Thinking time, Insight, Verification, Preparation
(D) Verification, Preparation, Thinking time, Insight
fedtars 3% &, mifmiiet o gos8 for yae D1
(A) i3 fgrdt, AOZ © AT, fanst aosr, uouar
(B) 2t FaaT, AUz T AN, nizg fandt, uower
() FIZ T AHt, nigeferd, usu, famrt adst
(D) ySET, fanrdt @ 3=, Aoz = A, nisg fund

119. We talk about reducing the school burden on student; still we give homework to student in
mathematics. Why is it so important give homework?
(A) Helps in independent study (B) Helps utilize extra time.

(C) Helps in understanding concept better (D) All of above

Paperll: QB.Seriesd 0 page2s



Wit 73 it €3 Agw o 89 Uiz qu5 TR s Fee It e & wilt farra R dfant
Sugeanfdeah forg i & i S o et gt

(A) nir3H fsg8g ugret Re ree &t

(B) ¥g AN’ § =93= &8t

(C) Hormu § dait 39 FHsE &t

(D) U3 AR

120. The objective of teaching Algebra to middle grade students is to enable students:
(A) Seeing relationships between numbers and looking for patterns in the relationships
(B) To master the skill of reading number
(C) To master in equations
(D) None of these

ﬁm@@wgmwm&@am
(A) Bggt f¥9 Adu uzT vi3 BHST (patterns) T Adueuar
(B) B9t § uFs & HomT e AP YE'S A9

(€) Aiiaa AHSE T desT TolET

D) feost fed* 3t &t |
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121.

122,

123,

124,

125.

126.

Science: Question Number 121-150
feforrs: yas $89 1213 150

The strength of an acid depends on the :

(A) The number of hydrogen atoms present in the acid

(B) Density

(C) Oxygen content

(D) Concentration of hydrogen ion furnished by acid on ionization

fan niv® & 393 fisgag gt D

(A) faR nw e Trfesdus yrant & faft & Ngedt 3

(B) WE3T (density)

(C) WA & Hrsar

(D) YHS B mrEtSISES (jonization) @ TSI mrrea FUWEST (Concentration) -

The concentration of the solution containing 40 gram of common salt in 320 gram of water in
terms of mass by mass percentage of solution is '
(A) 1.11% (B) 11.01%

© 11.1% (D) 10.11%
40 PH AIUFSE 34 § 3maxmu@féaﬁm@sma%zﬂs(solunon)ﬁmlﬂ8%
ﬂﬁ(mass)/ﬂﬁ%ﬁgaéaﬂ'

(A) L11% ‘ B) 1101%

©) 11.1% : 7 (D) 10.11%

The elements present in the compound quick lime are:

(A) Calcium and oxygen , (B) Hydrogen and calcium

(C) Calcium , hydrogen and oxygen (D) Calcium , nitrogen and oxygen
ﬁnseﬁaa% (Fo") 9 1793 33 Age 957

A) Ssfimnd 3 it (B) TEISIE 3 AT

(C) omHMH, TEEIS 3 mitaHFs (D) JBHMMH, FfEedas 3 vitarns

The number of moles of molecules present in 12 grams of oxygen gas are

(A) 3.750 moles . _ (B) 37.50 moies

(C) 0.375 moles (D) 375 moles
12wwaﬁlﬂaanf%‘aﬂa€m§»ﬁ%ﬂm (moles) Tt forzt JRaft

(A) 3750 HSH (moles) (B) 37.50 H®H (moles)

(C) 0.375 H&H {moles) - (D) 375 HBH (moles)

Rutherford's alpha-pasticle scattering experiment was responsible for the discovery of :
{A) Atomic nucleus (B) Electron

(C) Proton (D) Neutron _
JTIET5H SET (Rutherford’s alpha-particle scattering experiment) 3& g yGiar fam
da e fiflea d:

(A) YH'E & T (Atomic nuclews) . (B) fedaeTs

© Y5 (D) ﬁ;ﬁaav?;

The metal which exists in liquid state at room temperature i 1s

(A) Sodium - - (B) qunpne

(C) Mercury o (D) Aluminium

Paper Il :




faast w3 395 gu ¥ 2 ¥ SUHS 3 3f Aast 97
(A) A - (B) §HES
(C) HeSt . (D) misfHfem

127. In covalent bond :
(A) Transfer of electrons takes place

(B) One atom acts as donor and other as acceptor
(C) The electrons are shared only by one atom
(D) Equal sharing of electrons takes place between two atoms
AfarG dus 9
(A FeBagargitat 3B AR TS
(B) f¥ YPIE (atom) T3 3 T ARGES &I TF T HIE I5
(© f‘éamzwzﬂﬁe&azmn*%a"’l%#%aa
(D) B nignit 9 T fedargan A1 3 AR O

128. The number of carbon éompounds is very large because:
* (A) Carbon is tetravalent . (B) It has non metallic character

(C) It shows allotropy (D) K has strong catenation property
1995 2 BRI (compounds) B Aftmir 333 famrer 3t 3 fa@fx

(A) 9as e 2eaede i

®) o feaog guadtd

) feg fé?rgluzf (allotropy) fer@er 3)

(D) ferR vieT &t sz T gE i

129. A ray of light travelling in glass (refractive index 1.52) enters water (refractive index 1.33)
obliquely. The ray of light :
(A) bends towards the normatl (B) travels along the normal
(C) bends away from the normal (D) does not bend at all
foa yorm <t fxgz HiR R gWaR 32 ((refractive Index1.52) WIS (Refmctlve Index
1.33 feda) 3 Ut g AR faeet § At I (Refractive Index 1.33) feg yam < faaz
(A) nifsda 2 =5 Y3t (B) wifgs ¥ &% Tt Joat

©) nifsse 3 faod Jowdaht ©) formd & s w3t

130. Which of the following statements is correct for a circuit having seriescombination of
resistances:
(A) Current and voltage both are divided between different resistors.
(B) Voltage is same across resistors and current divides between them.
(C) Current is same throughout the circuit and voltage divides between the resistors.
(D) Current and volmge both are same across all resistors.

foroa qus Aefae YSiaugT & gRG & gHeTsT I3 AT I

(A) da2 3 Speve WHidumr 2 Re 33 T

B) 2ww yFeuat ¥ mvs afder 9, Qaﬂz@wﬁaés#?%

(©) @mﬁzﬁaaﬂzﬁamaﬁw%%é@nqﬂwéﬁuﬁaaa@a
(D) qﬁwﬁaa&%é@nmaﬁ%aﬁ

131. A person uses a concave minﬁf"fdf sl:aving, what should be the positidn of his face in front of it?
(A) At centre of curvature < (B) At focus
(C) Retween pole and focus -, . (D) Beyond centre of curvature
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132.

133.
. By what % will the resistance be increased and what will be the ingrease in its resistivity?

134.

'135.

136.

fEx et niess TouE @ w93 a9 Mo AT aer ) TouE TR R B ¥ fom
@t Afast foE 3R

(A) TTT3' © Hu feF (curvature) (B) @A 3

(©) UBIIR T g (D) TIAI3™ 2 WO T U (curvature)

A TV set picture tube emits a beam of electrons. The current due to this beam is 10 mA. How

many electrons will strike the TV screen every second?

(A) 5/8 x10"7 @) 10x 107

(C) 1.6x 107 f . (D) 1.6x10"

fea &. & Re & filos fe6a fedags ot faget d=< 31 feast fagat oz B9
10maA = &92 3t 31 Br . &, mefls 3 79 Afde o 11 fedags caa@ad

(A) 5/8x10"7 (B) 10x 10°

(C) 16x10"° (D) 1.6x10"

An electric wire is stretched to increase its length by 25%, keeping area of cross section same.

(A) Resistance = 75%, resistivity = 25%

(B) Resistance = 25%, resistivity = 75% ' )

(C) Resistance = 25%, resistivity = no change '

(D) Resistance =75%, resistivity = no change .

fea faredl & 319 § fioz aoa Qe dardt 25% du At 3, 8 T nigyET T2 (cross
section) ¥ ¥39e% Gt 3fder 1 Brer yfadu fld % wu arder 3 BF o yfsduasT il
<04t o
(A) YfSU(Resistance)= 75%, YFIIUAZT (Resistivity)= 25%

(B) Yf3du=25%, Yf33uasr =75%

(€) Yf3du=25% Yf33uam = &t sooe ot

(D) Yf3du=75% Yf39uamr = a5t wwwe &t

For an object in motion, if the displacement occurred is proportional to square of time taken,
then the object moves with -

(A) uniform velocity (B) uniform acceleration
(C) . increasing acceleration (D) decreasing acceleration
o 2ng ot ey Imiz feremus AMEUR (Af): 3t eRg & it 3Radt
(A) i A S (B) fea ms yRar

(€ YR fg =ur (D) wzer R

A water tanker filled up to 2/3 of its height is moving with a uniform speed. On sudden
application of the brake, the water in the tank would
(A) move backward _ (B) move forward and rise

(C) be unaffected (D) move backward and rise

B udt = 259 23 fowr fomrr 7 1 fearrg o 5% Qovet 3 sfpor w7 foor A
W RS MG TIE Urdt 9 famr 1 urdt & Afeht ot

(A) iR war (B) »id war 3 §ug €3ar

(C) JE 29 &I uar : (D) il vw3ar 3 €'y §3ar

An object is put one by one in three liquids having different densities. The object floats with
1/9,2/11 and 3/7 parts of their volumes outside the liquid surface in liquids of densities d1 , d2

and d3 respectively. Which of the following statement is cegrect?
(A) d1>d2>d3 - (BYdl>d2< d3

(C) dl<d2>d3 " (D)dl<d2<d3

‘&



foq ez & fix-fa a9 f35 - wasr T8 398 uerde’ (T9) 9 ufenmi =Rz
119,211 3 3HeSs TR S S R oot o33 IR f 41,482,431 5
&5t faast aus €93 9 : |

((A) dl>d2>d3 . - (B) d1>d2<d3
(C) dl<d2>d3 ' (D) dl<d2<d3

137. A key of a mechanical piano struck gently and then struck again but much harder this time. In
the second case

(A) the sound will be louder but the pitch will not be different
(B) the sound will be louder and pitch will also be higher
(C) the sound will be louder but the pitch will be lower
(D) both loudness and pitch will remain unaffected
5 it fird St o (Key)§ nirand a7 o Fret 3 3 grterst feg 83 famrrer va€
& ofgor fomrr | fegt 788" o 3Rar
(A) wirerg 8 e ug AR (Pitch) T ST T &t niar
B) werm G F2at 3 AeeHs & Gor Rar
(C) nirerg €5 Gt uv AR St GRar
. (D) ¥ ¥ niew Q'S U ARIHTS 3 AT B9 ol URar

138. Oxygen rich blood from the lungs first comes to

(A) Left atrinm : {(B) Right atrium

(C) Left ventricle : (D) Right ventricle
Fafanit T wiartTie 576 Sfan JfenT 46 718 I ufast nr@et 3

(A) HEr »f&e (atrium) (B) A" nif&e (atrium)
(C) ¥ar f5Bi(ventricle) | (D) HF {5 (ventricle)

139. Malaria is cansed by :

(A) Bacteria (B) Fungi

{C) Protozoa | {D) Virus

WS o Jr9E 3 | |

(A) JTETr (B) EIA

(©) Yunr (D) Tfean

140. Concepts of Double Fertilization and Triple fusion in sexual reproduction of plants are related
with :
(A) Fusion of one sperm with egg cell and another with two polar nuclei
(B) Fusion of one sperm with egg cell and another with two synergid cells
(C) Fusion of one sperm with egg cell and another with two antipodal cells
(D) Fusion of one sperm with'egg cell and another with two stigmatal buds
femit 29 woor foiigs I Hoar Mo (Fewis) T st yass Rafs 3
A) fet BT T wiETE afse &% A% 3 gA T T TR S'E9R 56 NG
®) fod gaE o istE afser &% A6 3 gR o Asdls AEn 575 i
© fod BT T visE Afser s A 3T W ydhu Ao ss s
D) foa gz T visg afer & A 3 gn T € TISia 55 A
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- 141. How many haploid cells are formed at the end of meiosis If ?

(A) Four. (B) Eight
(C) Two (D) Six
g FIH fears IR nis g 73 nigifs3 B (haploid cells) 822 76
(A) 99 ‘ (B) Wi
© @ (D) &

142. Acid rain is made up of : '
(A) Ethane and CO- , (B) Methane and CO;
(C) NO;and SO, (D) H:SO;and NH4*
NN TIUT T J& D
(A) 885 3 o, () 8" 3 Co;
(C) NO: 3 SO, | (D) H.SO; 3 NH,*

143. Nita put 2-3 drops of dilute fodine solution on a small sample of raw food paste. It turned blue-
black. The component of food tested through this testis
. (A) protein (B) carbohydrate
(C) fat (D) vitamin .o
A 3 2-39% wd 32 rfeGls Rews S B Svs 3 Uit B0 TR-AR & Y9
7e6 famr | Svs @ faad fOR o 2re, fom 2Re ot ot fopor

() ¥ s - (B) AITIEIBIE
(C) Tt D) feerfis

- 144. Cuscuta is an example of :
(A) Saprophytic Plant - (B) Parasitic Plant
(C) Symbiotic Plant (D) Autotrophic Plant
LIS BuragE . ' :
(A) it der (B) ugHIt der
(C) Aot e () A Jer

145. Where is the intercalary meristem located in a plant body?

(A) Growing tips of stems (B) Growing tips of roots
(C) Base of the leaves or internodes (13) Base of the stéms .

e 02 @ faa fR 8 wiegdt fesmm @3 92 o5 3t 37
(A B EFTITWRM T
(B) BAIITIRM T
(C) Ufanwit @ g g
(D) 33 mag g
146. Teaching aids in science
(A) do not help much as science has fixed content which needs to be memorized,
(B) could be used at primary level but secondary and senior secondary pedagogy don’t require them

(C) are useful in Biology but Physics, Chemistry are best taught through lecture-discussion method
(D) should be used regularly to develop process and thinking skills in science ,

Paperil: Q.B.Series4 | o © Page3?



ﬁﬁmmﬁug@séﬁaﬁmma?

(A)ﬁﬁ;f@ﬁﬁ&@ﬁ@ﬁ%ﬁ%%ﬁ%ﬁﬂ%&%@@ﬁmm

®) feg i oS 3 ferdis 3 Fa? T ue RS 3 Hif R & ffior
rEa e 3 83wt

) feg e feforrs féo mﬁmwiﬁaémmmﬁm
fedt ot ugr@ W ARE TS

(D)ﬁaﬂwmaﬁaﬂ%mwfaﬁﬁmmﬁa ﬁat%ﬂm‘&'fcaﬂwaaﬂ?

147. The principle of science which tells us to choose the snmplest scientific explanation that fits the |

evidence is : .
(A) The principle of Parsimony _ (B) Principle of Speculation
(C) Principle of simplicity (D) Deductive approach

mamﬁmmmﬁmmwwmgmm
gl AR 899

(A) USHIHAT (Parsimony) ©F fHUiz

(B) MEHE/IBUST (Speculation) T fruis

(C) RIS v fAai3

(D) fsama3Ha UaH (Deductive approach)

148. Which of the following activity is concerned with assessing psychomotor domain of students in
a science classroom? ‘
(A) Asking Question Answers (B) Discussion
(C) Laboratory outcomes o (D) Unit Tests
fefins & s R feforradnt & Ardlaies 3hs (psychomotordommn)umw

foast fafonr st A7

(A) Y5 @39 ot (B) I I’
(©) Yoo 3 fanaad It (D) @fee 2re T
149. STEM based curriculum is based on :
(A) Applied approach : (B) Interdisciplinary and Applied approach
(C) Disciplinary approach " (D) Constructive approach
HBJU WITTTIS USaH & i 3
(a) feorfag Guran

(B) W33 mfas &Y 936 T8 Guran 2 fearsx Guram
(C) NigHEHS w3 Quan
(D) TISTIHS QuraH

150. In which of the following science process skills students draw conclusions about the cause of an

observation?

(A) Estimation (B) Prediction

{C) Inferences (D) Interpreting

5 fefamradt 3t frauz 393 fsmoan SR 06 3t Jo fufat RS faost Refemrs 268
yfafeor AraHd w8t 37

(A) WEHS ' (B) Ffeuad

(©) &I | (@) fenrfimpr

M
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(Social Science/ Social Study (bilingual section) (Question Numiber 91-150)
Arfrafefemrs/mifia niftms (g9vH-3n yas 359915150

91. Prayaga Prashsti (also known as the Alihabad Pillar Inscription) was composed by court poet

of which ruler?
(A) Samudragupta (B) Ashoka -
(C) Harshavardhan (D) Kanishka

yfamr yrdt (7 fewraae @ mlde &y @ &t &% At Aidt 31 foan 9w D et e
fodt aret?
(A) RHEIIUS (B) »EI
(C) TSHIIGS (D) AfSA
" 92. Which of the fcllowing facts about Kitab- ul Hind is incorrect ?
i. It was written by Ibn Batuta
ii. It was written in Persian
ifi. - It was divided in 80 chapters
. iv.  Each chapter began with a question

(A) Only i) ®) i&ii
(C) iii&iv _ (D) Al of them
fazg-85-f3e g3 I5t fafimr faoz Jg a3 I

(i) feq fems agzr & fodt
(i) &7 uaHms G fad

(i) Foaso st g & 3

(iv) IT U'S YHS &% Hg der I

(a) e @) - B BTG
(€) (i) 3 (iv) (D) A

93. Which of the following is incorrectly maiched
i.  Shaikh Muinuddin Sijzi- Delhi
ii. Shaikh Bakhtiyar Kaki- Delhi
ili. Shaikh Fariduddin Ganj-i- Shakar- Bhatinda
iv. Shaikh Nizamuddin Auliya- Delhi

(A) Onlyi. B) i &ii

©) 1. &iii (D) None of the above

I Tofimit £ o o3 He 957

) iy fhggets Hr-fd (i) A mHfEnrg Srel-fH
(iii) B Sdtedts Fr-2-Hore-afsr (iv) RY fsmyts nidhr—fiddt
) fhee () (B) ()3 (ii)

© O Gi) (D) feost fed 3 ot
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94.  Harihara and Bukka are associated with the establishment of which mighty cmplre

(A) Chalukya Empire (B) Chola Empire
(C) Vijaynagar Empire ‘ (D) Gurjar- Pratihara
aﬁaw»éﬁwamwvﬂéufanmaﬁwamm%?

(A) T%IW TH . B8) BB TIW

© R =P IH - . (D) IS ydgrr

95. Why was Francis Buchanan important to East India Company?
(A) He designed the Enfieid Rifle
(B) He was the brain behind permnanent settlement
(C) He undertook detailed surveys of the area under the company
(D) All of the above
Btre et dudt R Satitdt gorss fag' Haa*eg'az A
(a) BRd nisdies odtes feafes st
@) Faret $9uns iR Grer forar i
(€) Fut 2 nids nr8E T U39 T ATYE T
(D) Qudas A

96. Four major wars were fought by the English East India Company to over_powcr a ‘staterin 1767-
69, 1780-84, 1790-92 and 1799. Which of the following was that state?

(A) Marathas (B) Bengal

(C) Hyderabad. (D) Mysore

Sae it st 3 u o9 A A & 1767-69, 1780-84, 1790-92%1799%1;'3'&'
Y3 95 BEF St

(A) HTS . | B) HIS

© JeTare | | @) Pge

~ 97. Which of the following is not true regarding Great Bath in Mohenjodaro : -
(A) It was lined with bricks coated with plaster
(B) It was made watertight with a layer of natural tar.
(C) i was constructed in lower town.
" (D) Water was probably brought in from a well.
I iR 13t iR foxaar M3 Hasaers @ ‘vt femes’ w8t Sl &t Y
() fegt et = fozrdt aaa uersd &3 e fomim A
(B) Wﬁmmﬁeﬁa@u@%mﬁﬁfé@ﬁwm
© frg 58 afost e w2 o
(D) 57 urdt wrfiee yat 3 fonret faor 39T

98. Which of the following is not true of Mahajanapadas :
i.  They built huge forts
ii. They maintained big armics
iii. They depended on occasional gifts brought by people
iv. Thetax was fixed at % of the produce.
(A) Onlyi _ ~ (B) Onlyii
©) iv _ _ (D) il &iv
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i. Gyt 3 fers fad gz
i. GgsfdmarRd

i, @aa@*—a@‘mwﬁ%aﬁ%%ﬁaﬁaﬂ%ﬁh
iv ﬁ?@??%%anﬁmﬂaaﬁn

A) Wi 4 (B) ATH ii
©) iv g (D) iii W3 iv
99. Who were one of the earliest rulers of the subcontinent to issue gold coins?

' (A} Mauryas , (B) Satavahanas
(C) Kushanas (D) Guptas
Quidtdhy RS T saz @@ a3 TR 3 FE 3 ufgst A3 @ il o
(A) How Tt 3 (B) F3<TI5 Tt 3
@aawms (D) T Tt 3

106. What do you associate the term Dehhwal with?
(A) Coins in circulations i in Delhi under Tomaras and Chauhans
(B) Court poets in Dethi in early 12th century
(C) People living in Delhi-in the 12th century
(D) Noge of the above ,
moe fidfles § fam & Afgnr e
(A) 31T 3 Jus It T midts 5 YD 9o e o8 AR
® FPwdt 12 & R 2 A% 2 am o
(©) 128 Fft ¥ i g Sfos =8 8

o) fegt 138 3 5
101. ‘Trabeate’ or ‘Corbelled” stand for :
(A) Style of architecture in early medieval India (B) ‘Cannons used in early medieval India
(C) Military strategy in 8th century (D) Type of armour
C ‘Fdte At gzﬂw (‘Trabeate’ or ‘Corbelled’) O I&7
(8) gt "o adts 3793 2 THgaE O Sdar
B) Hoardls ooz g ot wrs adfmit 3ut
© & Rt & Ef =i

(D) RAST ¥ ya9
102. The Chettiars, Oswals, Bohras mmecheva] India were which of the following :
‘ - (A) Samantas (B) Trading communities
(C) Warriors (D) Landlords
ﬁuamm%arﬁ-éﬁnﬁ' A, SoTr fdar R Ao
A) Alst (B) Turd AYT &
(© Ut F ) faiee

_ 103. Which of the follovmng is not true about Shankaracharya :
. (A) He was bom in Tamil Nadu

(B) He was an advocate of Advaita
(C) He taught that Brahman is the only reality
(D) He considered the world around us as illusion or Maya
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Jo% faTaT oEe RagrarianT Bet Fdt adt 3
(A) o 3fimeg e AR At

B) @ameef&?éraamaa%ﬁr

©) Buat 3 feg ugrfonr fx gout & wrelt HE 3
(D) Bawt B feg ifenr fa Armg so/fenr 3

104. Who was the author of the book ‘A History of British India’ which divided the Indian History
into three periods — Hindu, Muslim and British ? ,
(A) Warren Hastings ' (B) Elliot Dawson
(C) James Mill ‘ (D) VASmith
“fifen 393 = fefsam” unsaw@uaaz% nfam%f@%wﬁﬁaw-ﬁg
HAfEM 3 figfer e o<t 3
(A) TG IR (B) e SV

(©) AR fits . (D) &. 2. "fitg

105. In 1600, the East India Company acquired a charter from the ruler of England, granting it the
sole right to trade with the east. Who was the ruler? .
{A)XKing George V . (B} Queen Victoria
(C)Queen Elizabeth I (D) King EdwardIIl - '
5 1660 T4 e R dudt § fEads @ om 38 e graee fiiferr fame yarfe
oy Asm yeE JWI W W AR AT BRam watelt A
(A) ANTE A a9aV (B) Hatodt fextddmr

(C) HITTTS BETREL (D) RHIE M3

106. Which of the following is correctly matched?
i.  Kols Rebellion- 1831-32
ii. Santhal Rebellion- 1855
iii. Bastar rebellion- 1910
iv. Warli Revolt- 1940

(A) Only ii (B) ii &iii
' C) i&ii ' (D) All of the above
o it 5 faoT RSt A 7 o

i, o®ded —1831-32
ii. FE% JeT - 1855
iii. 9A3T T - 1910
iv. TIH e — 1940

(A) AT\ i (B) ii Jiii
© ii - (D) Suda=z A9
107. Which poet said that * streets of Delhi aren’t mere streets they are like albums of a painter.’
: {A)Mir Taqi Mir (B) Mirza Galibh
(C)Bahadur Shah Jafar (D) Igbal :
ﬁna"ﬁ%faaf ﬁ&ﬁr@wrﬁa’fﬂﬁa AaRt ot e fxR fogeae =t amfgdt =g
Iz’
(a) W9 3t Hig @) firgar anfse

(C) TWEIATIMRA D) fea=rs
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108. Jnanadanandini Wlfe of Satyendranath Tagore the first Indian member of ICS is associated
with :
(A) Council Entry for women

(B) Brahmika Saree
(C) First women to attempt ICS'
_ (D) First Indian woman to write autobiography

AST6UGTa!, ASE TS a9 ¥ us#Y, ufet srast it A, ﬁnacsﬁaaﬁé‘hzna
(A) ufast Wia3 # I fYe ot :

®) gofHar At |

(C) WELHL. WA (ICSYUR 535 Tt ufaedt arast nies

(D) AR-Hiedt fouz Tt ufoeht et nigg

109. In 1661, the control of the 1slands of Bombay passed into British hands after the marriage of
Britain’s Kings Charles IT to a pnncess This princess was of which nationaity ?
(A) Spanish (B) Portuguese
{C) Dutch . (D) German
UBH 1 2, IHgHS &% fenirg 3 gmie 1S 1661 ﬁaéaﬁ@m@a%mwaaﬂr

fafcm Jat ¥ s for | fom smgrt 3w ot saifaesT AitY

(A) Fifs" . (B) YI3arst
. (C) 39 | ‘(D) TS
110. Who was the first Director-General of Archaeological Survey of India?
(A) Cunningham ' ' (B) RE.M Wheeler
(C) John Marshall (D) G.F.Dales
993 ¥ Y933 fegmar v ufow ey msas 3= At
(A) dfeum (B) WM., Tiiwe
(C) 75 HIRSB - (D) e, 3=/
111. Which provision of PRI made it more inclusive in terms of Social Justice?
(A) Finance Commission . (B) State Election Commissioner
(C) Reservation for SC/ST/Women (D) Gram Sabha
aﬂa*ﬁaa?mﬁnme*@afaaa*ﬁmnﬁﬁ@nﬁmrﬁ-afeme%%nmérﬁaﬁa
J7
A s ains
(B) Y3 T5% itRs _
(C) niggfes Wt / nigHfas wawst / Mozt wet fousens
(D) I AT
112. All disputes regarding federal matters come under whlch kind of jurisdiction of Supreme Court
of India?
{A) Ongmal Jurisdiction i (B) Writ Jurisdiction
(C) Appeltate Jurisdiction (D) Advisory Jurisdiction
aﬁawnw?ﬁmmﬁ@emm%ﬁa%mmﬁaaﬁa»r@%m
(A) YIfsx 839 miftarg © @ feoorem) Add Ase ifties
(©) mifts 2 839 nifimrg (D) RIS U39 niftarg ‘
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113. Parliamentary form of government means
(A) Legislature and executive are separate
(B) Legislature and executive are interdependent
(C) President is political head of the state
(D) Legislature does not control executive

At uRe st reag Fae I f
(A)WW%W%@%‘WUE

@) feus 1138 3 arovardt iss &F fea gn 3 599 08

() THeIuSt I w fowrt ofy 33 Jer I

D) feurs 115w, Travardt 15s § niud nidls 53 94 Aot
114. Why human beings consider themselves superior to other animals?

(A) Reason (B) Community
(C) Ability to communicate {D) Food
HEW TSt 3 i@ miny § IS AaRat o8 AE 3 wdor fag ifenr
(A) IR ®) A g afderd
(€) dizas & Gazr (D) 376
115. “Girls are good at painting and boys are good at sports™. The above statement is an example of
which of the following?
(A) Prejudice (B) Diversity
(C) Gender ability (D) Stereotype

ﬁawﬁﬁaeﬂwﬂ@»ﬁaa%u%%ﬁa”ﬁamévﬁfzwﬁ?ﬁn
o 5t GerggE 37
(A) TS B) fefdazr
() a1 var | (D) USRS .

116. Secularism refers to the separation of religion from the state.Which of the following would
violate India policy of secularism?
(A) State distancing from religion
(B) State intervening in religion based ‘personal law’
(C) State giving financial aid to religious community to set their school
(D) Celebration of religious festival in government school

TaHfstsT ferer oo i 3 X uaH IW 58 2T 31 I B qwet 9 foomr
-F793 & uanfsather & &5t & G8wer ager 37

(A) THTIH I gI I

(B) 9 T9H 2 mard 3 58 T35 (personal laws) g w5 &2

() IW nrafe gy e Hee R I X TOH s 3 AES BB FIE

() et Fawt e wafia fs@ua e wE

117. Which of the following was issued by General Parvez Musharraf in 2002 to amend the

Constitution of Pakistan?
(A) Legal framework order (B) Constitutional amendment order
{C) Law changing order (D) Constitutional framework order

B nirdpt FE5° fagar niel AYaE UIRE HRIS & mzﬁawfanam%ﬁl’ew%ﬁuz
o 7t elisT? |

(A) HIS THIA WIST (B) Hfeurfsx s nrE

(C) TES TTHE nieH (D) HAfeurfsa gior nirel

Paper ll: Q.B.Series4 | B  Page39




118. Which of the following is not correct about democracy?
(A) Raling party should have fair chance of losing

{B) Holding elections of any kind is sufficient
(C) No country in the world is an ideal democracy
(D) Representative democracy is the most common democracy form

5 fofuz &S faozr us #adsg &5t 7t 53t D1

(A) T I3 Uadt 2 & g9z & ydt fisreeT I et I
B) faR < 39 7% 8= T AeR TS|

(C) FAr9 o3&t <t ¥R foq niean Sadza st D

(D) B339 & AF I il i u yFifst Sadza D

119. Rajya Sabha is called the ‘Upper Chamber’. Which of the following is not true of Rajya Sabha?
(A) Rajya Sabha performs special functions
(B) Rajya Sabha can reject money bill
(C) Rajya Sabha cannot reject money bili
(D) Once Lok Sabha passes money bill Rajya Sabha cannot reject it
I Ao § ‘Quas Aes’ & faor wier 31 I Aer & fxaa aus A A 99

(A) TARF AR S aget &

B) TR RS fas § Tt D

(©) I Az 123 fa § Je &t aw Haet

D) ﬁaaéawﬁamfézﬁswnaa%%s*ww@n%éem’faaml

[20. In which year South Africa became a democratic country?

(A) 1990 (B) 1992
(C) 1994 - (D) 1995
ﬁnmﬁaé‘uﬂnﬁaafféaﬁaaiaﬁa%nm? |
(A) 1990 (B) 1992
(C) 1994 (D) 1995

121, Who among the following was. the President of the Constituent Assembly, a lawyer and a.
person known for his Champaran Satyagraha?

(A) Mahatma Gandhi (B) DrBR Ambedkar

(C) Dr Rajendra Prasad , (D) Jawaharlal Nehru
%f&ﬁbﬂﬁﬁ?%@ﬁﬁ@ﬁwwnﬁé}ﬁr feaeaﬂaéﬁa#tm
Afswgfa aea & wrfew aier D

(A) HIT3HT gritt (B) S.4t.ng. nidzag

() 5. Tfies ypre (D) FR'I9 &S afag

122. Which of the following is not true about focal media? -
(A} Local media covers mostly national issue in local language
(B) Local groups start their own media
(& Poor being given video cameras to films on thelr own lives
(D) Newspaper calied Khabar Lahriya run by only 8 dalit women

35 fafimit aast (39 faoar ravsx fighr =t At 501 30

(A) FEss i 39 3 revsa 3w R & 2 2 )ffowt § e 3

(B) AEsH s 3 & niruzr fiehor gg &9 R 95

©) adtat § nmft-fileaht St femt niny Bl meft NG A AR T

(D)mﬁnﬁmmwﬁmwaﬁafﬂaaseﬁﬁﬂwmmw
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123. What is the composition of Parliament?
(A) Lok Sabha and Rajya Sabha
(B) President, Lok Sabha and Rajya Sabha
(C) Chief Justice President, Lok Sabha and Rajya Sabha
(D)} Vice President,Lok Sabha and Rajya Sabha
AAe o J95 fa? 3dt 97
(A) & AZT 3 I+ AT
(B) IHCIUST, & HST 3 IW A
() Wy fourddtn, IHeIust 3 AeT 3 9 FAET
(D) QU FHETUS, & AS' 3 IH AT

124. Which provision was passed without any debate in constituent assembly?

(A) Fundamental Rights (B) Universal Adult Franchise
(C) Parliamentary Form of Government (D) Directive Principles of State Policy
Rieus &9 faos yeus fagr fan afor @ uR § Ater /7
-(A) Nissa nifoarg (B) Hff@vrrﬂewsétéze*mha'a
(C) FRag T AR gU (D) T 8 &t fssem fiais
125. Kesavananda Bharti Vs. State of Kerala case is famous for :
(A) Panchayati Raj Institution (B) Basic Structure Doctrine
(C) Judicial Activism (D) Land Reforms
. JETSE I3t 3 TS IH T U YiRg A7 |
(A) dorfEst o RAe 6t ' (B) y® 3T T 3 At
(C) wewst AdaaHt et (D) its HoS B

" 126. Identify the wrong statement about the Prime Meridian.
(A) It passees through the place, where the British Royal Observatory islocated

(B) It divides the earth into two equal halves, the northern hemisphere and the southern
hemisphere

(C) Its value is 0° longitude

(D) From it we count 180° eastward as well as 180° westward.

Hftps JUT (Prime Meridian) ¥ T19 foog aus At &4t 9

(A) Te3 B8R g T Hudt I ffd wrdt fgfen niedas mer frfas O

B) fe0 uadt § € gorma et 9 35t 3 €S dirou 3 2wt diwrag

©) fere va Sdtgge 3 0° d1

(D) ferer ferzr 180° YIT B 3 180° Tt URH =B I

127. “The growth of natural vegetation is very limited here. Only mosses, lichens and very small
shrubs are found here. This vegetation is found in the polar areas of Europe, Asia and North
America. The animals have thick fur and thick skin to protect themselves from the cold climatic

conditions.”

The above mentioned vegetation is

(A) Desertic Vegetation (B) Tropical evergreen forest -
(C) Temperate grasslands (D) Tundra vegetation

geadt saRuShr @ Deres R o3 fitfie 31 fioe o, e »i2 Iy 2t srdtet &t
fimsdmit 351 feo FE samEint Gau R gdnr femd o, €38 nodiar 9 951 waeet
& 11t vt 3 =9 Qost § 83 Td 3 soBF I 3o Tt &' faodt samudt 09—

(A) Jetrsal ssrust ®) rz afeddt Fer 9979 Hos

() H3mz W e : (D) 259" samuSt
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128. Which one of the following describes a system of agriculture where fruits, vegetables and
' flowers were grown :
(A) Shifting Agriculture {B) Plantation Agriculture
(C) Horticulture (D) Intensive Agriculture
%Wﬁ#f&wﬁaﬁmqﬁuﬁaa&mﬁhﬁ%m%mwﬁmﬁ

fder 3

(A) RETGTITE 83t (B) JUE
(©) =TI : (D) Fut ast
129. InIndia , the rate of increase is the highest in case of .
(A) area under non-agricultural uses (B) area under barren and wasteland
(C) area under culturable wasteland (D) area under pastures and tree crops

733 &g T T ¥F (rate of increase) AS 3 fanprer J&t J Ae°
(A) fower v odtast @ fomus feg st (B) femar v 99 2 Fost O

©) fmadrRtmwdcwd () 993 Jut Y 8l v fewmr

130. Which one of the following is not an avantage of Raster data format ?
(A) High spatial variability is efficiently represented
(B) Same grid cells for several attributes
(C) Compatible with remote sensing imagery
(D) Compact data structure
35 ittt R foraar “gwes S eraile” wdt wardt 5t Y1
(A) €9 nerfex As=a g gRes &% feu@sr -
(B) T Mesifa@en 8 rHs faE Row
(C) TIETH, ARE! nigd&H3T 518
(D) AN F'eT ACIATT
131. Resource planning is a complex process which involves :

1. Identification and inventory of resources across the regions of the country. This involves
surveying, mapping and qualitative and quantitative estimation and measurement of the

resources.
ii. Evolving a planning structure endowed with appropriate technology, skill and institutional

set up for implementing resource development plans ¢
iii. Matching the resource development plans with overall national development plans.
(A) Onlyi (B) Onlyiandii A
(C) Only i and iii (D) Alf of these B
AAas BT e Afes yfafen 3 7 fa—

i. '%n%m-mq@ﬁamﬁmmé%wéaﬁm@aﬁnm
ﬁa&aﬁn@wmﬁ%w@a?wvmm@m&am

HArgEr 3 HuzEr

ii. ﬁnmﬁawﬂﬁﬁmﬁmmsﬁnﬁ IFBI, ﬁméﬁn@a%ﬁﬁﬁ’u
T & fanmg o

ii. mmmwﬁwmmﬁaﬁﬂum

(A) i OB : (B) idE® R i

(©) ii IT® M3 iii (D) A

er - % Q B Senes4 p— P ————— p————— p—— pae -



132. Identify the wrong statement about tea.
(A) Its leaves have rich content of caffeine and tannin
(B) It is an indigenous crop of hills in northern China
(C) Itis grown over undulating topography of hilly areas
(D) In India, tea plantation started in 1842 in Brahmputra valley of Assam.
19 T g9 faor aus s I—

(a) feg U=t s 3 258 5% FNUT T5

) feg €533t diw & yordhut &t fa ys eAs

(©) uor 39t {8 Qug-yraz ot 3 Gartt § |
(D) 393 feu 1842 G niAH & gor33 urdt feg ovg Gardt gg 9t

133. Identify the states touching tropic of cancer

(A) Gujrat, Orrisa and West Bengal (._B) Gujrat, Uttar Pradesh and West
Bengal . '

) Madhya Piadesh , Jharkhand and Tripura (D) Ofrrisa, Jharkhand and Tripura

fi103 Y3 59T T § 2R 95 B95° § B _

(a) T3, B, 3 dat dars B) ITs, €37 yger I Y=t
qTS |

(C) Ma yem, saus 3 fauar - ) 8w, sods 3 fipyer

134. The world’s fastest land mammal, the cheetah (Acinonyx jubantus), is a unique and specialised
member of the cat family Prior to the 20th century, cheetahs were widely distributed
throughout Africa and Asia. The species was declared extinct in India long back in 1952. Asian
cheetah is nearly extinct mainly due to

(A) global warming - {B) pollution

(C) migration (D) decline of available habitat and prey.
W?E?%ﬁm@@%wmﬂ?(Acinonyx-Juhanms),HE?Eﬁth
Wiy, fighrt & wrt & fr 31 20 & FY 3 ufosst, i B e 3 it 3 Bxdor
¥ fimse 7t fem Wt § 993 feg g3 A ufost 19521%9&3){63#6@3%%3
a3 famyr) ﬁnm%éﬁ»@é\?ma&é}méa

(A) & SuR ‘_ (B) YgRZ
(C) FEGIIE (D) WY 3 36 T uleEr

135. Consider the following statements and select the most appropriate answer.

i. - India is the largest producer as well as the consumer of pulses in the world. These are the
major source of protein in a vegetanan diet

ii. These pulses are grown in the kharif season only.

iii. Pulses are mostly grown in rotafion with other crops.

iv. Pulses need more moisture and cannot survive in dry conditions.

v." Major pulse producing states in India are Madhya Pradesh, Uttar Pradesh Rajasthan,

Maharashtra and Karpataka.
(A) i, i andin are true - : {B) i-,iii and v are true
(C) Onlyi istrue (D) All are true
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136. According to Falken Mark, a'Swé'djsh expert,water stress occurs when water availabilityis less
(A) 500 cubic metre perpersonper day. (B) 1,000 cubic metre per personper day. .
(C) 1,500 cubic metre per personper day. (D) 2,000 cubic metre per personper day.

FRATSH Hifae Toas IR nighrg urdt & it 3t et 3 me udt & Qusasa we & 3
Bre nigAg UEt o vay 3993 &9 ni@er J fe udt & Susasarule D

A) s00uwsize e et g fos B) 1,000 Hies iz wrett ¥ s
(€) 1,500 Hies fEx nrertt ¥ fes (D) 2,000 w5 Hizg fox mrartt ¥ fow

137. Consider the following two statements and select the most appropriate answer:
I. India have fairly rich and varied mineral resources.

II. India have differences in the geological structure. processes and time involvedin the fonnatlon
of minerals.

(A) BothIand II are true and I is the reason for 11

(B) BothIand Il are true and I is not the reason for IT
(C) Iis true and IT is false

(D) Both I and II are false _
aaﬁwaéaa#?;mraﬁaéua‘rﬁanﬁ}@%aw

I 39S [ ufsE o At mle A3 D , ¢
I 333 9 udint 2 foarz R Juar-due rF 3 sdifea wigr 2 fafomr s )

A I3 IWARI LTI B) 13 0 83 AF 3 1, 1 & F9= &t -
© IFAIna™3 (D) TRIINIBT

138. In solar system, Inner planets are very close to the sun and they are made up of rocks. Which
planet among the following is Inner planet .

(A) Mars - (B) Jupiter

(C) Saturn - (D) Uranus
ﬁaﬂs&ﬁaﬂa@qhw%mmﬁaa@mﬁm%a@aﬁl Jot fR I A
ooz gfs s==ft=t

(A) HIS | (B) qmus'
(C) Bt : . (D) WA
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139. In the solar system, apart from the star, planets and satelhtes there are numerous tiny bodies
which also move around the sun. These bodies are called aszeroids. They are found

(A) between the orbits of Earth and Mars (B) between the orbits of Venus and Earth
(C) between the orbits of Jupiter and Saturn (D) between the orbits of Mars and Jupiter
Faiss g 39, gft 3 Quafo i 951 sgz A 22 fils. (unyhod:es)éraanm
e T féaara%ﬁ.lsf‘&malhfaafwm feo i 951

(A) UISt &F gt 3 Yo femad B) maétuﬁ%uas’rfeaa'a

©) gforus & gt 3 wét fegag D) ﬂmﬂuﬁ%qﬁm&fﬁa‘w
140. Identify the first stage followed in a field survey. - -

(A) Objectives _ (B) Defining the Problem

(C) Scope (D) Tools and Techniques

fadtyz 2 A39 R faodt rew ufost 31 .

) &m ®) Hufimiet o ferdnz

(€) Agear ' @) Ae3 3aaﬁ'a

141. There is a mdespread belief that social science merely transmits information which is centred
- on the text and is unconnected to daily realities.Which of the: followmg teachmg techruque wﬂl

help in breaking this perception ?
(A) Story telling technique (B) Community resouree technique
{(C) Textbook technique (D) Question answer technique

mm%ﬁmmﬁww%ﬁnmﬁaﬁMEﬂﬁnw.
o fites St Hordint 318 &4t 31 i’ra%%mémfamwaaﬁd’rfenfwawﬁ
Igz f¥9 Rofea g d=ar?

(A) TTE FECE o 3THA (B) AyTTiEa As Saatd

(C) US URS 33 , (D) yAs-§39 331 -

142. Which of the following is considered important by National Curriculum Framework, 2005 for
developing one’s understanding ? ) . '
{A) Textbook as only source ' (B) Textbook as one of the source -

(C) Class without textbok (D) Textbook as optional

| faﬁétmaw@zaéf%maﬂme%wmsw%ﬁbﬁfﬁﬁn&
HgeygE et famr 31 ,
(A) o5 us yREs &t s D ®) wzsunsawaaféam%

(©) fast U YRS © AH'3 (D) waunsa@'s'@maﬁ%

143. Which of the following recommendations was glven by the.report Leammg Wlthout Burden
(A) Learn without burden of analysing . ‘
(B) Analyse socio political realities instead of retention
(C) Focus on retention instead of comprehension
(D) Learn information without burden of thinking of future oriented goals :
ﬁmw@wm%mwmﬁ%mmﬁwa
(A) ferdms fost fordt i 2 883

(B) TSt ¥ gE® AHTHE 3 TS AOTEMI § U
() Ryesr & ut I gzt § Aefes T9w
(D) 3 2 Q" first Ao 92 fomis U a9
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' 144. .Ident.lfy the following evaluation which helps students to know about their progress in the path
- of learning and also to plan for mid course corrections ?
(A} Formative evaluation (B) Summative evaluation

(C) Norm referenced evaluation _ (D) Final evaluation

-%Wﬁ?ﬁ@%ﬁﬁmﬂéﬁwﬂﬁsﬁ%ﬁamméﬁﬂwﬁ
TIES IBT?
' (A) Toifes yota | (B) Fifer HoiaE
(©) ¥t Addt yoiaz (D) wif3H yoiaE
145. The awakemng of social science has not been casy process.According to Wagner which of the

following major issues was not confronted by social sciences ?
(A) Rationality : (B) Usefulness

" (C) Carrier oriented - (D) Structure

. Earg nighg A fefamns &t 93a3 &t Has yfafenr &t 31 %am%nmaﬂa
faftpnt G fxaar ey mrfaa fefomrs os fda st geery
(A) IIfaazr (B) Susifarsr
(©) Tifear Fefs3 (carrier oriented) (D)

'146. In which of the following methbds, rules and principles are provided to the students and then
they are asked to verify them with examples ?

(A) Inductive method (B) Deductive method
(C) Observation method (D) Comparative method
-5 Tt RS foradt fatt, %H%ﬁw%ﬁwaﬂnvﬁﬁané?ﬁﬁamm
@ iy § o @ AxE?
(A) s fedt o (B) fomis fedt
() ﬁ‘ﬁ"‘ﬂ?. fedt x (D) I et
147. Who coined the term ‘sociology’ ? -
(A) Auguste Comte (B) Emile Durkheim
(C) Karl Popper - ' (D) David Easton
‘PHHETRSY” o siaT RE 3 ufost far diste
(A) PRSI (B) Bhiets 3oty
(C) T uhsa - (D) 3fes dnes

148. It has been observed that cultural, social -and class dlffercnoes generate biases, prejudlces
among the students of social science in classroom context.Which of the following teachmg
approach should be taken in this situation? _

. (A) Teaching needs to be open ended :
. (B) Teacher should avoid discussing about any diversity
(C) Teacher should take a separate session of students belonging to backward class
(D) Teacher should instruct for not raising any discussion on caste or religion

R s & w3 2 Ades R nitt R ot i e, HAfaSt 3 ear 3¢ N
m)mal %W%@‘ﬁnnﬁﬂﬁafaﬁ(mlﬁmﬁ)ﬁ&q@zmﬁé
(A) ez Yz e dar ardter 3 _
B) nifmux § s Ot gowr 3 weE ot
(©) mifmmua § fissht A R fefonradin § v uarla srdler D)
D) Mﬁﬁﬁéﬂ%m%méaﬁnﬁﬁ?aﬁa&é&rm

_ |
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149. According to Gulbenkian Commission report in 1850-1914,which of the followmg was not
considered as the discipline of social science ?

(A) Anthropolgy (B) Sociology
(©) Psychology {D) Economics
ISERAMIS THTHS ﬁuazlssowm%»maaaﬁsﬁwﬁ%‘fanﬁmrﬁﬁfeﬁm

W}WWG@?

(A) H&= HASS (B) AH'H H'AST
(C) Hofefaris (D) WJE HRST
150. Which of the following is known as century of social science ?
(A) 18% century (B) 19% century
(C) 20™century (D) 21* century
Is fofimrt 5 fan § rufra fefomrs <t met faor AT 97
(A) 18<F Fet (B) 19 reit
(€) 203 At (D) 21 & At
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